

#### Pay Estimate Created Date: April 17, 2023

Progress Estimate 4	Number	Contract ID Prime Contract	220715-G01 tor APAC-Centra		ay Period Start ay Period End	April 2, 2023 April 15, 2023	Original Contract Amount Net Change Order Amount Current Contract Amount	\$5,135,000.00 \$0.00 \$5,135,000.00			
Approval Date								By User			
April 17, 2023		) at the Project Office Level by	heminc1								
April 19, 2023	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by koestg										
April 20, 2023				Reviewe	d and Approved a	t the Central Of	fice Controllers Office Level by	ramses1			
Original Completio	ompletion Date Current Completion Date Actual Completion Date % of Current Contract Ar										
June 30, 2023	;	June 3	30, 2023				50.27%				
	Contract	Informational Dat	es		Mile	stones					
Date Description	Original O	Completion Date	Current Complet	ion Date	No Milestones	Exist for Contrac	ot				
Acceptance Date											
Awarded Date	August 3,	2022	August 3, 2022								
Letting Date	July 15, 20	022	July 15, 2022								
Notice to Proceed Date	August 18	, 2022	August 18, 2022								
Open to Traffic Date											
Work Began Date											

#### Contract Total Pay For Estimate No. 4 This Estimate Previous To Date 220715-G01 <mark>\$2,059,366.71</mark> (**\$322,370.89)** \$0.00 \$521,779.17 \$261,479.36 Total Posted Items Pay \$2,581,145.88 Gross Item Adjustments (\$60,891.53) \$0.00 Incentive \$0.00 Disincentive \$0.00 \$0.00 \$0.00 Liquidated Damage \$0.00 \$0.00 \$0.00 Other Contract Adjustments \$0.00 \$0.00 \$0.00 \$783,258.53 \$2,520,254.35

Contract Total Payable This Estimate:

\$1,736,995.82

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
JSR0149	0020	4071005	TACK COAT	GAL	\$2.900	18,861	\$54,696.90
	0030	6169902	MISC.Misc. Traffic Control	EA	\$6,500.000	1.5	\$9,750.00
	0040	6181000	MOBILIZATION	LS	\$299,939.990	0.5	\$149,970.00
	0100	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$92.500	13,279.2	\$1,228,326.00
	0130	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$90.500	2,891.2	\$261,653.60
	0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	TONS	\$92.800	3,825.11	\$354,970.21
Project JSR0	149 - Total						\$2,059,366.71
Overall - Tota	al						\$2,059,366.71

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSR0149	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	Stockpile		Payment Estimate Item Adjustment generated Stockpile Transaction			(\$142,054.59)
	0100	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)				-7.1	\$92.50	(\$656.75)



#### Pay Estimate Created Date: April 17, 2023

Prog	ress Est	timate Number 4	Contract I Prime Con		715-G01 AC-Central, Inc	Pay Period Start c. Pay Period End	April 2, 2023 April 15, 2023	I Contract Ar inge Order A Contract An	mount \$0	\$5,135,000.00 \$0.00 \$5,135,000.00	
Project Number	Line No.	Item Descrip	otion	Adjustment Type Other Item Adjustment Type		Comments			Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSR0149	0100	BITUMINOUS P MIXTUR (SURFACE L	E PG64-22	Other Item Adjustment	Asphalt Cement Price Adjustment	AC price adju	stment for line it	em 0100			(\$91,628.48)
	0130	BITUMINOUS P MIXTUR (SURFACE L	E PG64-22	Overrun					-1	\$90.50	(\$90.50)
	0130	BITUMINOUS P MIXTUR (SURFACE L	E PG64-22	Other Item Adjustment	Asphalt Cement Price Adjustment	AC price index adju	stment for line it	em 0130			(\$19,949.28)
	0250	BITUMINOUS P MIXTUR (SURFACE L	E PG64-22	Construction Stockpile		Payment Estimate Ite	m Adjustment g Stockpile Tra				(\$41,598.10)
	0250	BITUMINOUS P MIXTUR (SURFACE L	E PG64-22	Other Item Adjustment	Asphalt Cement Price Adjustment	AC price index adju	stment for line it	em 0250			(\$26,393.19)
Total											(\$322,370.89)



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information							
Project Number	Federal Proj. Number	Project Description	Route	County		Location of Work							
JSR0149		Pavement resurface	VARIOUS	BENTON	on Route VV from Rout County	e 7 to 1 mile south of Route	AA and on Route U, T, YY and Route E fro	m Route 73 to Route T in D					
Fotals by J	Job Numbe	ars											
JSR0149					This Estimate	Previous	To Date						
	Poste	ed Item Pay	ante		\$2,059,366.71	\$521,779.17	\$2,581,145.88						
	Poste		nents Gross Ite	em Pay									
	Poste	ed Item Pay s Item Adjustm		m Pay	\$2,059,366.71 (\$322,370.89)	\$521,779.17 \$261,479.36	\$2,581,145.88 (\$60,891.53)						
	Poste Gross Incen	ed Item Pay s Item Adjustm		em Pay	\$2,059,366.71 (\$322,370.89) <b>\$1,736,995.82</b>	\$521,779.17 \$261,479.36 <b>\$783,258.53</b>	\$2,581,145.88 (\$60,891.53) <b>\$2,520,254.35</b>						
	Poste Gross Incen Disine	ed Item Pay s Item Adjustm tive	Gross Ite	em Pay	\$2,059,366.71 (\$322,370.89) <b>\$1,736,995.82</b> \$0.00	\$521,779.17 \$261,479.36 <b>\$783,258.53</b> \$0.00	\$2,581,145.88 (\$60,891.53) <b>\$2,520,254.35</b> \$0.00						

### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 220715-G01, Contract Project JSR0149, Project Item Line Number 0100, Contract Line Item Number 0100, Item 4020520, Minor Item.	This item was overrun by 7.1 tons. This exception will be paid upon the creation of a change order.	heminc1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 220715-G01, Contract Project JSR0149, Project Item Line Number 0130, Item 4020520, Minor Item.	This item was overrun by 1 ton. This exception will be paid upon creation of a change order.	heminc1	Acknowledged



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	ltem Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
220715-G01	JSR0149	0001	0010	3105002	GRAVEL (A) OR CRUSHED STONE (B)	1,766.00	0.00	1,766.00	TONS	0.00	\$21.50	\$0.00
		0001	0020	4071005	TACK COAT	46,768.00	0.00	46,768.00	GAL	28,612.00	\$2.90	\$82,974.80
		0001	0030	6169902	MISC.Misc. Traffic Control	6.00	0.00	6.00	EA	4.50	\$6,500.00	\$29,250.00
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$299,939.99	\$149,970.00
		0001	0050	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	44,449.00	0.00	44,449.00	LF	2,800.00	\$0.19	\$532.00
		0001	0060	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	520,122.00	0.00	520,122.00	LF	228,349.00	\$0.11	\$25,118.39
		0001	0070	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	825.00	0.00	825.00	SQYD	824.10	\$13.75	\$11,331.38
		0001	0080	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,113.00	0.00	3,113.00	SQYD	2,889.90	\$10.15	\$29,332.48
		0002	0090	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,497.00	0.00	2,497.00	TONS	0.00	\$20.00	\$0.00
		0002	0100	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	13,272.10	0.00	13,272.10	TONS	13,279.20	\$92.50	\$1,228,326.00
		0002	0110	4081018	PRIME-LIQUID ASPHALT MC 800	7,367.00	0.00	7,367.00	GAL	0.00	\$4.10	\$0.00
		0003	0120	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,815.80	0.00	1,815.80	TONS	0.00	\$18.50	\$0.00
		0003	0130	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,878.80	0.00	7,878.80	TONS	7,879.80	\$90.50	\$713,121.90
		0003	0140	4081018	PRIME-LIQUID ASPHALT MC 800	5,357.00	0.00	5,357.00	GAL	0.00	\$4.10	\$0.00
		0004	0150	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,766.40	0.00	1,766.40	TONS	0.00	\$18.75	\$0.00
		0004	0160	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,625.90	0.00	7,625.90	TONS	241.50	\$95.90	\$23,159.85
		0004	0170	4081018	PRIME-LIQUID ASPHALT MC 800	5,211.00	0.00	5,211.00	GAL	0.00	\$4.10	\$0.00
		0005	0180	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	524.40	0.00	524.40	TONS	0.00	\$20.75	\$0.00
		0005	0190	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	2,284.90	0.00	2,284.90	TONS	1,188.30	\$94.75	\$112,591.42
		0005	0200	4081018	PRIME-LIQUID ASPHALT MC 800	1,547.00	0.00	1,547.00	GAL	0.00	\$4.10	\$0.00
		0006	0210	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,744.40	0.00	1,744.40	TONS	0.00	\$20.25	\$0.00
		0006	0220	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	7,661.50	0.00	7,661.50	TONS	0.00	\$94.30	\$0.00
		0006	0230	4081018	PRIME-LIQUID ASPHALT MC 800	5,146.00	0.00	5,146.00	GAL	0.00	\$4.10	\$0.00
		0007	0240	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,482.60	0.00	1,482.60	TONS	0.00	\$17.25	\$0.00
		0007	0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	6,417.30	0.00	6,417.30	TONS	6,426.11	\$92.80	\$596,343.01
		0007	0260	4081018	PRIME-LIQUID ASPHALT MC 800	4,374.00	0.00	4,374.00	GAL	0.00	\$4.10	\$0.00
	Project JS	6R0149 - To	otal Value	Posted to D	ate as of Report Generated Date							\$3,002,051.23
220715-G01 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$3,002,051.23



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	4071005	TACK COAT	4/3/23	4/4/23	2,250.00	GAL	Rte. VV, N.B. Lanes	1.912 N.B. Lane		6.924 N.B. Lane		
			4/4/23	4/6/23	700.00	GAL	RTE AA	5.910	CL	7.784	CL	
				4/6/23	800.00	GAL	RTE VV	6.924	CL	9.104	CL	
			4/6/23	4/7/23	2,000.00	GAL	RTE AA	5.910	CL	2.398	CL	
			4/7/23	4/17/23	930.00	GAL	RTE AA	2.398	CL	1.789	CL	
			4/8/23	4/13/23	1,192.00	GAL	Rte. AA, Eastbound and Westbound Lanes	1.789 to 0.000 E.B.		0.000 to 1.926 W.B.		
			4/10/23	4/13/23	2,000.00	GAL	RTE AA	1.926	CL	6.076	CL	
			4/11/23	4/17/23	2,000.00	GAL	RTE AA	6.076	CL	10.024	CL	
			4/12/23	4/14/23	1,900.00	GAL	RTE AA	6.076	CL	12.520	CL	Log mile 6.076 to 10.024 was in the EB lane, and log mil 10.024 to 12.520 was in the WB lane.
			4/13/23	4/17/23	1,056.00	GAL	RTE AA	10.024	CL	12.520	CL	
				4/17/23	1,077.00	GAL	RTE U	0.000	CL	2.259	CL	
			4/14/23	4/17/23	2,956.00	GAL	RTE U	2.256	CL	6.023	CL	Work completed in the NB lane and continued in the SB lane.
0030	6169902	MISC. TRAFFIC CONTROL DEVICES	4/6/23	4/7/23	0.75	EA	RTE AA	0.000	CL	12.520	CL	
			4/14/23	4/17/23	0.75	EA	RTE U	0.000	CL	7.444	CL	
0040	6181000	MOBILIZATION	4/4/23	4/6/23	0.25	LS	RTE VV and RTE AA					25% of mobilization applied for reaching 10% completion (amount of \$513,500), excluding item adjustments.
				4/6/23	0.25	LS	RTE VV and RTE AA					25% of mobilization applied for reaching 5% of work completed (amount of \$256,750), excluding item adjustments.
0100	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	4/4/23	4/6/23	995.90	TONS	RTE AA	5.910	CL	7.784	CL	
			4/6/23	4/7/23	1,887.00	TONS	RTE AA	5.910	CL	2.398	CL	
			4/7/23	4/17/23	297.90	TONS	RTE AA	2.398	CL	1.789	CL	
			4/8/23	4/13/23	1,923.00	TONS	Rte. AA, Eastbound and Westbound Lanes	1.789 to 0.000 E.B.		0.000 to 1.926 W.B.		
			4/10/23	4/13/23	2,360.60	TONS	RTE AA	1.926	CL	6.076	CL	
			4/11/23	4/17/23	2,109.50	TONS	RTE AA	6.076	CL	10.024	CL	
			4/12/23	4/14/23	2,457.70	TONS	RTE AA	6.076	CL	12.520	CL	Log mile 6.076 to 10.024 was in the EB lane. Log mile 10.024 to 12.520 was in the WB lane.
			4/13/23	4/17/23	1,247.60	TONS	RTE AA	10.024	CL	12.520	CL	RTE was completed
0130	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	4/3/23	4/4/23	1,951.50	TONS	Rte. VV, N.B. Lanes	1.912 N.B. Lane		6.924 N.B. Lane		
			4/4/23	4/6/23	939.70	TONS	RTE VV	6.924	CL	9.104	CL	
0250	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SUR	4/13/23	4/17/23	928.11	TONS	RTE U	0.000	CL	2.259	CL	
			4/14/23	4/17/23	2,897.00	TONS	RTE II	2.259	CI	6.023	CL	NB lane was completed and work on SB lane began.

The information below this line are details for Construction Signs (if applicable), No Data Available



# Line Item Adjustments by Estimate

Apr 21, 2023

Contract ID: 220715-G01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSR0149	0100	BITUMINOUS PAVEMENT	Construction Stockpile		4	Apr 17, 2023	SYSTEM	(\$142,054.59)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MIXTURE PG64-22		- Total				(\$142,054.59)	
		(SUR	Construction	Stockpile - 1	otal			(\$142,054.59)	
			Construction Stockpile		1	Mar 2, 2023	SYSTEM	\$142,054.59	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$142,054.59	
			Construction		MI - Total			\$142,054.59	
			Other Item	ACAD			homino1	(\$91,628.48)	AC price edjustment for line item 0100
			Adjustment	ACAD		Apr 17, 2023	heminc1		AC price adjustment for line item 0100
			011					(\$91,628.48)	
			Other Item A					(\$91,628.48)	
			Overrun	Overrun		Apr 17, 2023	SYSTEM	(\$656.75)	
				Overrun - T	otal			(\$656.75)	
			Overrun - Tot	tal				(\$656.75)	
	0100 -	Total						(\$92,285.23)	
	0130	BITUMINOUS PAVEMENT	Construction Stockpile		3	Apr 3, 2023	SYSTEM	(\$96,053.92)	Payment Estimate Item Adjustment generated Stockpile Transaction
		MIXTURE PG64-22		- Total				(\$96,053.92)	
		(SUR	Construction	Stockpile - T	otal			(\$96,053.92)	
			Construction Stockpile		1	Mar 2, 2023	SYSTEM	\$96,053.92	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$96,053.92	
			Construction	Stockpile S1	MI - Tota			\$96,053.92	
			Other Item	ACAD		Apr 3,	heminc1	(\$37,289.79)	
			Adjustment	NONE	4	2023 Apr 17,	heminc1	(\$19,949.28)	AC price index adjustment for line item 0130
						2023	nonino i		
				ACAD - Tota				(\$57,239.07)	
			Other Item A					(\$57,239.07)	
			Overrun	Overrun		Apr 17, 2023	SYSTEM	(\$90.50)	
				Overrun - T	otal			(\$90.50)	
			Overrun - Tot	tal				(\$90.50)	
	0130 -	Total						(\$57,329.57)	
	0160	BITUMINOUS PAVEMENT	Construction Stockpile		1	Mar 2, 2023	SYSTEM	\$50,690.18	Payment Estimate Item Adjustment generated Stockpile Transaction
		MIXTURE PG64-22	STMI	- Total				\$50,690.18	
		(SUR	Construction	Stockpile S1	MI - Tota			\$50,690.18	
	0160 -	Total						\$50,690.18	
	0190	BITUMINOUS PAVEMENT	Construction Stockpile		1	Mar 2, 2023	SYSTEM	\$14,798.69	Payment Estimate Item Adjustment generated Stockpile Transaction
		MIXTURE PG64-22	STMI	- Total				\$14,798.69	
		(SUR	Construction	Stockpile SI	MI - Tota			\$14,798.69	
	0190	Total						\$14,798.69	
			Construction		1	Mor 2	SYSTEM		Doumont Estimate Item Adjustment generated Stackails Transaction
	0220	BITUMINOUS PAVEMENT MIXTURE	Construction Stockpile STMI	Totol	1	Mar 2, 2023	STOLEM	\$49,627.59	Payment Estimate Item Adjustment generated Stockpile Transaction
		PG64-22 (SUR		- Total				\$49,627.59	
			Construction	Stockpile S1	MI - Tota			\$49,627.59	
	0220 -	Total						\$49,627.59	
	0250	BITUMINOUS PAVEMENT MIXTURE	Construction Stockpile		4	Apr 17, 2023	SYSTEM	(\$41,598.10)	Payment Estimate Item Adjustment generated Stockpile Transaction
		PG64-22		- Total				(\$41,598.10)	
		(SUR	Construction	Stockpile - T	otal			(\$41,598.10)	



## Line Item Adjustments by Estimate

Apr 21, 2023

Contract ID: 220715-G01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JSR0149	0250	BITUMINOUS PAVEMENT MIXTURE	Construction Stockpile STMI		1	Mar 2, 2023	SYSTEM	\$41,598.10	Payment Estimate Item Adjustment generated Stockpile Transaction
		PG64-22	511111	- Total				\$41,598.10	
		(SUR	Construction	Stockpile S1	MI - Total			\$41,598.10	
			Other Item Adjustment	ACAD	4	Apr 17, 2023	heminc1	(\$26,393.19)	AC price index adjustment for line item 0250
				ACAD - Tota	al			(\$26,393.19)	
			Other Item A	djustment - T	otal			(\$26,393.19)	
	0250 -	Total						(\$26,393.19)	
JSR0149	- Total							(\$60,891.53)	
Overall -	Overall - Total							(\$60,891.53)	



There are no contract adjustments to display for this contract.